VF e b
f‘fcb Sl 2S5 bl s o OIS
S0 BN
TR S e
\ J'é.w
(!

sl s bz =+ 06 13 K = K2 (o 0Ly SC sl s B(r) Olos Slslose 056 31 eslizl L

(<

Olize 03L33 5 i oy 2l Ol b el 5 G5l 6l o ol (0 L ) (o 0L 0T Sols Jl
sl St | e 2] B(r) (seblas

Y J‘é.w
(4.5-"
S35 2 1y Ole 5 S e3lial (S H o g5y b Al G 1 ol ablian lis 5 g 2 gl 5

-W‘d}b*\"‘}ﬂmﬂ-’né‘)‘-’

(<

S 0l 0y, Oy e 1 25 Gy sl s s g (655 Paba (655 2 1) (bl e Jl

() S5

L d »4}-0 *?”'i"ib o oty — o

Ydl}wdﬁ:\ﬁ



¥ g

(B:VXA) M}—Jd)‘bjg}:wtg&“d;‘}géb‘JBJM)@Q}[}-‘LéébvB: "dbl&nd\f‘u}iw
pm s AL a5 e Jeily SO US Syt 1y A 45 aSa Slons H b VLA = + 058wt le
28y YL e 4 Ol ramer 5 A=V XV (g

(!
AL Bslo a3l B = v Sl 203 (85 S osb 4l (B JISSI S 4) Wsly IS s b

(<

(Eain § OLS YFo0 diws 1 olaaly) S ond Sl C1 S0 B pebolin los o5 (63550 10 1, W

(¢
by (ALl e S 2y 5 s LW

F Jlgw

e 3 plile ) gome dhols 5 tien 7 5 gome (sl 53 o 0 K i 53, —F 0l b liel ¥ i pleialy)
ek I cos(0) Ol eas s s pdle 4 53 5 o Ol Sbe Bl o (Bern Jol b a Bl (26
Sl

jocos(f) = K. cos(0)
JSK8) s 0 KL 08(6) (e Ol Olea @ A3L 6 = K. & opb ¢ s Joo i 4 L j ST







